

- We know how to construct fixed points using domains and continuous functions (Kleene's fixed point theorem).

- We know how to construct fixed points using domains and continuous functions (Kleene's fixed point theorem).
- We know how to construct interesting domains and continuous functions.

- We know how to construct fixed points using domains and continuous functions (Kleene's fixed point theorem).
- We know how to construct interesting domains and continuous functions.
- Missing: how to reason on fixed points?

SCOTT INDUCTION

REASONING ON FIXED POINTS: SCOTT INDUCTION

Let D be a domain, $f: D \rightarrow D$ be a continuous function and $S \subseteq D$ be a subset of D . If the set S

- (i) contains \perp ,
- (ii) is stable under f , i.e. $f(S) \subseteq S$,
- (iii) is chain-closed, i.e. the lub of any chain of elements of S is also in S ,

then $\text{fix}(f) \in S$.

$$\begin{array}{l} \perp \in S \quad \text{(i)} \\ f(\perp) \in S \quad \text{(ii)} \\ f^2(\perp) \in S \quad \text{(ii)} \dots \end{array} \quad \perp \sqsubseteq f(\perp) \sqsubseteq f^2(\perp) \sqsubseteq \dots \in S$$
$$\text{fix}(f) = \bigcup_n f^n(\perp)$$

REASONING ON FIXED POINTS: SCOTT INDUCTION

Let D be a domain, $f: D \rightarrow D$ be a continuous function and $S \subseteq D$ be a subset of D . If the set S

- (i) contains \perp ,
- (ii) is stable under f , i.e. $f(S) \subseteq S$,
- (iii) is chain-closed, i.e. the lub of any chain of elements of S is also in S ,

then $\text{fix}(f) \in S$.

$$S = \{x \in D \mid \Phi(x)\}$$

$$\Phi(\perp) \quad \Phi(x) \Rightarrow \Phi(f(x)) \quad (\forall i \in \mathbb{N}. \Phi(x_i)) \Rightarrow \Phi\left(\bigsqcup_{i \in \mathbb{N}} x_i\right)$$

SCOTTIND

$$\Phi(\text{fix}(f))$$

BUILDING CHAIN-CLOSED SETS

All the following are chain-closed:

BUILDING CHAIN-CLOSED SETS

All the following are chain-closed:

$$\{(x, y) \in D \times D \mid x \sqsubseteq y\}, \quad d \downarrow \stackrel{\text{def}}{=} \{x \in D \mid x \sqsubseteq d\} \quad \text{and} \quad \{(x, y) \in D \times D \mid x = y\}$$

$$\begin{array}{l} x_0 \sqsubseteq y_0 \\ \bigcap \\ x_1 \sqsubseteq y_1 \\ \vdots \end{array}$$

$$\begin{array}{l} \bigcup_m x_m \sqsubseteq \bigcup_m y_m \\ \bigcup_m (x_m, y_m) = \left(\bigcup_m x_m, \bigcup_m y_m \right) \in \dots \end{array}$$

BUILDING CHAIN-CLOSED SETS

All the following are chain-closed:

$$\{(x, y) \in D \times D \mid x \sqsubseteq y\}, \quad d \downarrow \stackrel{\text{def}}{=} \{x \in D \mid x \sqsubseteq d\} \quad \text{and} \quad \{(x, y) \in D \times D \mid x = y\}$$

$$f^{-1}S = \{x \in D \mid f(x) \in S\} \quad \text{if } S \subseteq E \text{ is chain-closed, and } f: D \rightarrow E \text{ is continuous}$$

BUILDING CHAIN-CLOSED SETS

All the following are chain-closed:

$$\{(x, y) \in D \times D \mid x \sqsubseteq y\}, \quad d \downarrow \stackrel{\text{def}}{=} \{x \in D \mid x \sqsubseteq d\} \quad \text{and} \quad \{(x, y) \in D \times D \mid x = y\}$$

$$f^{-1}S = \{x \in D \mid f(x) \in S\} \quad \text{if } S \subseteq E \text{ is chain-closed, and } f: D \rightarrow E \text{ is continuous}$$

$$S \cup T \quad \text{and} \quad \bigcap_{i \in I} S_i \quad \text{if } S, T \text{ and } S_i \text{ are}$$

$$x_0 \in x_1 \dots \bigcap_{i \in \mathbb{I}} S_i$$

$$x_0 \in x_1 \dots \in S_i \forall i$$

$$\bigcup_n x_n \subset S_i \forall i$$

$$\bigcup_n x_n \in \bigcap_{i \in \mathbb{I}} S_i$$

$$x_0 \in x_1 \in x_2 \dots \in SUT$$

An infinite number of x_i s in one of S or T , assume it's S

$$x_{q(0)} \in x_{q(1)} \in \dots \in S \quad q: \mathbb{N} \rightarrow \mathbb{N}$$

$$\bigcup_n x_{q(n)} = \bigcup_n x_n$$

\uparrow
 S

Bound

$$\frac{x_m \in x_{q(m)} \in \bigcup_n x_{q(n)}}{\text{chain}} \quad \text{Bound}$$

Bound

$$\frac{\forall m, x_{q(m)} \in \bigcup_n x_m}{\text{Least}}$$

Least

$$\frac{\forall m, x_m \in \bigcup_n x_{q(m)}}{\text{Least}}$$

$$\bigcup_n x_{q(n)} \subseteq \bigcup_n x_m$$

$$\bigcup_n x_m \subseteq \bigcup_n x_{q(n)}$$

Asym

$$\bigcup_n x_{q(n)} = \bigcup_n x_m$$

BUILDING CHAIN-CLOSED SETS

All the following are chain-closed:

$$\{(x, y) \in D \times D \mid x \sqsubseteq y\}, \quad d \downarrow \stackrel{\text{def}}{=} \{x \in D \mid x \sqsubseteq d\} \quad \text{and} \quad \{(x, y) \in D \times D \mid x = y\}$$

$$f^{-1}S = \{x \in D \mid f(x) \in S\} \quad \text{if } S \subseteq E \text{ is chain-closed, and } f: D \rightarrow E \text{ is continuous}$$

$$S \cup T \quad \text{and} \quad \bigcap_{i \in I} S_i \quad \text{if } S, T \text{ and } S_i \text{ are}$$

$$\forall S \stackrel{\text{def}}{=} \{y \in E \mid \forall x \in D. (x, y) \in S\} \subseteq E \quad \text{if } S \subseteq D \times E \text{ is}$$

$\phi(x, y)$ chain-closed $\Rightarrow \forall x \phi(x, y)$ chain-closed

EXAMPLE: DOWNSET

Assume $f(d) \sqsubseteq d$, i.e. d is a pre-fixed point of the continuous $f : D \rightarrow D$. By Scott induction on $d \downarrow$, $\text{fix}(f) \sqsubseteq d$.

iii) chain-closed

i) $\perp \in d \downarrow \Leftrightarrow \perp \sqsubseteq d \quad \checkmark$

ii) $f(d \downarrow) \subseteq d \downarrow \Leftrightarrow (\forall x, x \sqsubseteq d \Rightarrow f(x) \sqsubseteq d)$ but $x \sqsubseteq d \Rightarrow f(x) \sqsubseteq \underbrace{f(d)}_d$

by Scott ind $\text{fix } f \in d \downarrow$

EXAMPLE: DOWNSET

Assume $f(d) \sqsubseteq d$, i.e. d is a pre-fixed point of the continuous $f : D \rightarrow D$. By Scott induction on $d \downarrow$, $\text{fix}(f) \sqsubseteq d$.

Proof!

EXAMPLE: PARTIAL CORRECTNESS

Let $w_\infty: \text{State}_\perp \rightarrow \text{State}_\perp$ be the denotation of

`while $X > 0$ do ($Y := X * Y; X := X - 1$)`

Recall that $w_\infty = \text{fix}(F)$ where

$\{X \mapsto x, Y \mapsto y\}$

$$F(w)(x, y) = \begin{cases} (x, y) & \text{if } x \leq 0 \\ w(x - 1, x \cdot y) & \text{if } x > 0 \end{cases}$$

$$F(w)(\perp) = \perp$$

EXAMPLE: PARTIAL CORRECTNESS

Let $w_\infty: \text{State}_\perp \rightarrow \text{State}_\perp$ be the denotation of

$$\text{while } X > 0 \text{ do } (Y := X * Y; X := X - 1)$$

Recall that $w_\infty = \text{fix}(F)$ where

$$F(w)(x, y) = \begin{cases} (x, y) & \text{if } x \leq 0 \\ w(x - 1, x \cdot y) & \text{if } x > 0 \end{cases}$$

$$F(w)(\perp) = \perp$$

Claim:

$$\forall x. \forall y \geq 0. w_\infty(x, y) \Downarrow \implies \pi_Y(w_\infty(x, y)) \geq 0$$

EXAMPLE: PARTIAL CORRECTNESS

Let $w_\infty: \text{State}_\perp \rightarrow \text{State}_\perp$ be the denotation of

while $X > 0$ do ($Y := X * Y; X := X - 1$)

Recall that $w_\infty = \text{fix}(F)$ where

$$F(w)(x, y) = \begin{cases} (x, y) & \text{if } x \leq 0 \\ w(x - 1, x \cdot y) & \text{if } x > 0 \end{cases}$$

$$F(w)(\perp) = \perp$$

$$w_\infty(x, y) \neq \perp$$

Claim:

$$\psi(w_\infty) := \forall x. \forall y \geq 0. \underline{w_\infty(x, y) \Downarrow} \implies \pi_Y(w_\infty(x, y)) \geq 0$$

Proof: by Scott induction!

$$\phi(\omega) := \forall x \in \mathbb{Z} \forall y \in \mathbb{N}. \omega(x, y) \Downarrow \Rightarrow \neg(x(\omega(x, y))) \geq 0$$

i) $\phi(\perp)$. $\perp(x, y) = \perp$ vacuously true \checkmark

ii) $\phi(\alpha) \Rightarrow \phi(F(\alpha))$

$$x \in \mathbb{Z} \ y \in \mathbb{N}, F(\omega)(x, y) \Downarrow$$

a) $x \leq 0$ $F(\omega)(x, y) = (x, y)$ \checkmark

a) $x > 0$ $F(\omega)(x, y) = (x-1, x \cdot y)$ $\neg(y(F(\omega)(x, y))) = x \cdot y \geq 0$ \checkmark

iii) ϕ is chain-closed \forall is always chain-closed

for $x \in \mathbb{Z} \ y \in \mathbb{N}$
 $\omega(x, y) \Downarrow \Rightarrow \neg(x(\omega(x, y))) \geq 0$ is chain-closed

$\omega_0 \sqsubseteq \omega_1 \sqsubseteq \dots$
 all $\omega_i \Downarrow \Rightarrow (\bigcup_n \omega_n)(x, y) \Downarrow$ \checkmark

$$b) w_i(x, y) \forall \mathbb{R} (F(w_i)(x, y)) \geq 0$$

$$\left(\bigcup_n w_n \right)(x, y) = w_i(x, y)$$

$$F\left(\bigcup_n w_n\right)(x, y) = \bigcup_n F(w_n)(x, y) = F(w_i)(x, y)$$

✓

PCF

PCF

TERMS AND TYPES

Types:

$$\tau ::= \text{nat} \mid \text{bool} \mid \tau \rightarrow \tau$$

Types:

 $\tau ::= \text{nat} \mid \text{bool} \mid \tau \rightarrow \tau$

Terms:

$$t ::= 0 \mid \text{succ}(t) \mid \text{pred}(t) \mid$$

$$\text{true} \mid \text{false} \mid \text{zero?}(t) \mid \text{if } t \text{ then } t \text{ else } t$$

$$x \mid \text{fun } x:\tau. t \mid tt \mid \text{fix}(t)$$

$f: (\sigma_1 \rightarrow \sigma_2 \rightarrow \sigma_3 \dots \rightarrow \tau)$

$\text{let rec } f \text{ of } (x_1:\sigma_1) \dots (x_n:\sigma_n) : \tau :=$

$f x_1 \dots x_n$

$\text{fix}(f)$

$\Gamma \vdash t : \tau$ The term t has type τ in context Γ

$$\text{ZERO} \frac{}{\Gamma \vdash 0 : \text{nat}}$$

$$\text{SUCC} \frac{\Gamma \vdash t : \text{nat}}{\Gamma \vdash \text{succ}(t) : \text{nat}}$$

$$\text{PRED} \frac{\Gamma \vdash t : \text{nat}}{\Gamma \vdash \text{pred}(t) : \text{nat}}$$

$\Gamma \vdash t : \tau$ The term t has type τ in context Γ

$$\text{ZERO} \frac{}{\Gamma \vdash 0 : \text{nat}}$$

$$\text{SUCC} \frac{\Gamma \vdash t : \text{nat}}{\Gamma \vdash \text{succ}(t) : \text{nat}}$$

$$\text{PRED} \frac{\Gamma \vdash t : \text{nat}}{\Gamma \vdash \text{pred}(t) : \text{nat}}$$

$$\text{TRUE} \frac{}{\Gamma \vdash \text{true} : \text{bool}}$$

$$\text{FALSE} \frac{}{\Gamma \vdash \text{false} : \text{bool}}$$

$$\text{ISZ} \frac{\Gamma \vdash t : \text{nat}}{\Gamma \vdash \text{zero?}(t) : \text{bool}}$$

$$\text{IF} \frac{\Gamma \vdash b : \text{bool} \quad \Gamma \vdash t : \tau \quad \Gamma \vdash t' : \tau}{\Gamma \vdash \text{if } b \text{ then } t \text{ else } t' : \tau}$$

$$\text{VAR} \frac{\Gamma(x) = \tau}{\Gamma \vdash x : \tau}$$

$$\text{FUN} \frac{\Gamma, x:\sigma \vdash t : \tau}{\Gamma \vdash \text{fun } x:\sigma. t : \sigma \rightarrow \tau}$$

$$\text{APP} \frac{\Gamma \vdash f : \sigma \rightarrow \tau \quad \Gamma \vdash u : \sigma}{\Gamma \vdash f u : \tau}$$

$$\text{FIX} \frac{\Gamma \vdash f : \tau \rightarrow \tau}{\Gamma \vdash \text{fix}(f) : \tau}$$

$$\text{VAR} \frac{\Gamma(x) = \tau}{\Gamma \vdash x : \tau}$$

$$\text{FUN} \frac{\Gamma, x:\sigma \vdash t : \tau}{\Gamma \vdash \text{fun } x:\sigma. t : \sigma \rightarrow \tau}$$

$$\text{APP} \frac{\Gamma \vdash f : \sigma \rightarrow \tau \quad \Gamma \vdash u : \sigma}{\Gamma \vdash f u : \tau}$$

$$\text{FIX} \frac{\Gamma \vdash f : \tau \rightarrow \tau}{\Gamma \vdash \text{fix}(f) : \tau}$$

$$\text{PCF}_{\Gamma, \tau} \stackrel{\text{def}}{=} \{t \mid \Gamma \vdash t : \tau\}$$

$$\text{PCF}_{\tau} \stackrel{\text{def}}{=} \text{PCF}_{\cdot, \tau}$$

PCF

OPERATIONAL SEMANTICS

Values:

$$v ::= 0 \mid \underbrace{\text{succ}(v)}_{\underline{n}} \mid \text{true} \mid \text{false} \mid \text{fun } x:\tau. t$$

Values:

$$v ::= 0 \mid \underbrace{\text{succ}(v)}_{\underline{n}} \mid \text{true} \mid \text{false} \mid \text{fun } x:\tau. t$$

$$\text{VAL} \frac{\vdash v : \tau}{v \Downarrow_{\tau} v}$$

Values:

$$v ::= \underbrace{0 \mid \text{succ}(v)}_{\underline{n}} \mid \text{true} \mid \text{false} \mid \text{fun } x:\tau. t$$

$$\text{VAL} \frac{\vdash v : \tau}{v \Downarrow_{\tau} v}$$

$$\text{SUCC} \frac{t \Downarrow_{\text{nat}} v}{\text{succ}(t) \Downarrow_{\text{nat}} \text{succ}(v)}$$

$$\text{PRED} \frac{t \Downarrow_{\text{nat}} \text{succ}(v)}{\text{pred}(t) \Downarrow_{\text{nat}} v}$$

Values:

$$v ::= \underbrace{0 \mid \text{succ}(v)}_{\underline{n}} \mid \text{true} \mid \text{false} \mid \text{fun } x:\tau. t$$

$$\text{VAL} \frac{\vdash v : \tau}{v \Downarrow_{\tau} v}$$

$$\text{SUCC} \frac{t \Downarrow_{\text{nat}} v}{\text{succ}(t) \Downarrow_{\text{nat}} \text{succ}(v)}$$

$$\text{PRED} \frac{t \Downarrow_{\text{nat}} \text{succ}(v)}{\text{pred}(t) \Downarrow_{\text{nat}} v}$$

$$\text{ZEROZ} \frac{t \Downarrow_{\text{nat}} 0}{\text{zero?}(t) \Downarrow_{\text{bool}} \text{true}}$$

...

$$\text{IFT} \frac{b \Downarrow_{\text{bool}} \text{true} \quad t_1 \Downarrow_{\tau} v}{\text{if } b \text{ then } t_1 \text{ else } t_2 \Downarrow_{\tau} v}$$

...

Values:

$$v ::= \underbrace{0 \mid \text{succ}(v)}_{\underline{n}} \mid \text{true} \mid \text{false} \mid \text{fun } x:\tau. t$$

$$\text{VAL} \frac{\vdash v : \tau}{v \Downarrow_{\tau} v}$$

$$\text{SUCC} \frac{t \Downarrow_{\text{nat}} v}{\text{succ}(t) \Downarrow_{\text{nat}} \text{succ}(v)}$$

$$\text{PRED} \frac{t \Downarrow_{\text{nat}} \text{succ}(v)}{\text{pred}(t) \Downarrow_{\text{nat}} v}$$

$$\text{ZEROZ} \frac{t \Downarrow_{\text{nat}} 0}{\text{zero?}(t) \Downarrow_{\text{bool}} \text{true}}$$

...

$$\text{IFT} \frac{b \Downarrow_{\text{bool}} \text{true} \quad t_1 \Downarrow_{\tau} v}{\text{if } b \text{ then } t_1 \text{ else } t_2 \Downarrow_{\tau} v}$$

...

$$\text{FUN} \frac{t \Downarrow_{\sigma \rightarrow \tau} \text{fun } x:\sigma. t' \quad t'[u/x] \Downarrow_{\tau} v}{t u \Downarrow_{\tau} v}$$

$$\text{FIX} \frac{t(\text{fix}(t)) \Downarrow_{\tau} v}{\text{fix}(t) \Downarrow_{\tau} v}$$

Values:

$$v ::= \underbrace{0 \mid \text{succ}(v)}_{\underline{n}} \mid \text{true} \mid \text{false} \mid \text{fun } x:\tau. t$$

$$\text{VAL} \frac{\vdash v : \tau}{v \Downarrow_{\tau} v}$$

$$\text{SUCC} \frac{t \Downarrow_{\text{nat}} v}{\text{succ}(t) \Downarrow_{\text{nat}} \text{succ}(v)}$$

$$\text{PRED} \frac{t \Downarrow_{\text{nat}} \text{succ}(v)}{\text{pred}(t) \Downarrow_{\text{nat}} v}$$

$$\text{ZEROZ} \frac{t \Downarrow_{\text{nat}} 0}{\text{zero?}(t) \Downarrow_{\text{bool}} \text{true}}$$

...

$$\text{IFT} \frac{b \Downarrow_{\text{bool}} \text{true} \quad t_1 \Downarrow_{\tau} v}{\text{if } b \text{ then } t_1 \text{ else } t_2 \Downarrow_{\tau} v}$$

...

$$\text{FUN} \frac{t \Downarrow_{\sigma \rightarrow \tau} \text{fun } x:\sigma. t' \quad t'[u/x] \Downarrow_{\tau} v}{t u \Downarrow_{\tau} v}$$

$$\text{FIX} \frac{t(\text{fix}(t)) \Downarrow_{\tau} v}{\text{fix}(t) \Downarrow_{\tau} v}$$

Alternatively: small-step $t \rightsquigarrow_{\tau} u$, we have $t \Downarrow_{\tau} v$ iff $t \rightsquigarrow_{\tau}^* u$.